Week #1 Concepts: semi-colon, then/than, compound sentence, plural possessive, verb tense agreement, complete sentence awareness
A If teens seem stuck to they’re phones, it’s because they’re texting a bunch.
B To put that data into perspective they send an average of seven texts every hour they’re awake.

C With respect to gender, girls sent and received 3,952 messaged per month kinda like boys 2,815 texts.
D Teen’s data use is getting bigger at a faster rate than any other group, they used an average of 320 MB per month – a 256 percent increase over last year.

E Perhaps the most popular phone that teens use is the I-phone and they’re good at using it.

F Teens send an average of 3,417 texts a month; according to a new survey from Nielsen.

G Nielsen collected this stuff from the monthly bills over more then, 65,000 subscribers. 

H That means they’ve tripled their mobile data usage since 2010 – Yes, tripled…in one year. 

Mon= Reorder sentences, pay attention to transitions, delete one sentence, A is first, H is last. Correct order is below, with the revised paragraph- use it for Tuesday through Friday.  
Mon= Revise all of the words that I underlined in green = diction

If teens seem stuck to their phones, it’s because they’re texting profusely. Perhaps the most popular phone that teens use is the I-phone and they’re good at using it. Teens send an average of 3,417 texts a month; according to a new survey from Nielsen. Nielsen collected this information from the monthly bills over more then, 65,000 subscribers. Teen’s data use is getting bigger at a faster rate than any other group, they used an average of 320 MB per month – a 256 percent increase over last year. With respect to gender, girls sent and received 3,952 messaged per month compared to boys 2,815 texts. To put that data into perspective they send an average of seven texts every hour they’re awake. That means they’ve tripled their mobile data usage since 2010 – Yes, tripled…in one year. 
If teens seem stuck to they’re phones, it’s because they’re texting profusely. Teens send an average of 3,417 texts a month; according to a new survey from Nielsen. Nielsen collected this information from the monthly bills over more then, 65,000 subscribers. Teen’s data use is getting bigger at a faster rate than any other group, they used an average of 320 MB per month – a 256 percent increase over last year. With respect to gender, girls sent and received 3,952 messaged per month compared to boys 2,815 texts. To put that data into perspective they send an average of seven texts every hour they’re awake. That means they’ve tripled their mobile data usage since 2010 – Yes, tripled…in one year. D 
Delete = Perhaps the most popular phone that teens use is the I-phone and they’re good at using 

Monday = AFGCDBH, delete E

T1 = a) NO CHANGE b) phones, its c) phone it’s d)phones; its e) phones; it’s

T2 = a) N.C. b) boys’ 2,815 texts. c) boy’s 2,815 texts. d) boys’ 2,815 texts’.

T3 = f) perspective; they g) N.C. h) perspective, they will i) perspective, they j) perspective, they have

W1= f) N.C. g) I-phone; h)I-phone: i) I-phone, but j) I-phone, and

W2= a) N.C. b) month c) month, d) month. According e) month:

W3= a) N.C. b) than, 65,000 c) than 65,000 d) then 65,000

TH1= f) N.C. g) gender h) gender’s i) genders’

TH2= Both underlined, red dashes are correct; Use these correct examples to explain the accurate purpose, function and usage of a dash.

Friday=


How was it said? = One adverb for tone


Where might you find this text?


What kind of person wrote it?


What kind of people was it written for?

Week #2 Concepts: There, subject-verb agreement, appositive, transitional phrases, complete sentence awareness, accept/except, then/than, its/it’s
Their is many misconceptions about the Latino culture. One of the most common relate’s to language, Spanish is the language of most Latinos. While there is certainly a Mexican dialect, the actual language is called Spanish. “Hispanic,” another term for “Latino,” is widely used as well. ______ some Latinos doesn’t except the label because of its ties to Spain. ____ many proud Mexicans have a stronger identification with they’re indigenous blood then their Spanish blood. Mexican food is often too spicy. ____ several items of confusion surround the term Latino; language, names and blood. I suggest researching the topic more to discover additional details yourself. 
Friday = Delete or keep the purple sentence?

a) Keep = important detail of the topic sentence

b) Keep = key contradiction to the previous sentence

c) Delete = It contradicts the topic sentence

d) Delete = it is an unneeded, unrelated detail

Friday = Delete or keep the last gray sentence?

e) Keep = it accurately summarizes the paragraph

f) Keep = but move it to the first sentence of the paragraph

g) Delete = it grammatically incorrect

h) Delete = inconsistency in author’s voice

Friday=


How was it said? = One adjective for tone


Where might you find this text?


What kind of person wrote it?


What kind of people was it written for?

M1 = Fill in the blanks with appropriate transitions. 
M2 = a) No Change b) There are c) There is d) Their are e) They’re are

M3 = a) No Change b) relates’ to c) relates to d) relate’s too e) relates too
T1 = e) no change b) language: Spanish c) language and Spanish d) language; Spanish

T2 = a) No change b) dialect c) dialects d) dialects: e) dialect;

T3 = f) No change g) “Hispanic” h) “Hispanic is another term for “Latino” i) “Hispanic” and “Latino”
W1 = a) No Change b) doesn’t accept c) don’t except d) don’t expect e) don’t accept 

W2 = f) No Change g) it’s h) its’ i) it isn’t j) Hundey is a weirdo 
W3 = a) No change b) their c) there d) they are e) his 
TH1 =  f) No change g) than there h) than they’re i) then their j) than their

TH2 = a) No Change b) Latino. c) Latino, such as: d) Latino like e) Latino:
TH3 = Improve the diction of one adjective and one verb.
Week #3 = Tuesday and Thursday are timed. 

Despite a poor performance that night BJ(1)Penn will still be remembered as a legendary(2)  fighter. He has blessed MMA fans with stellar(3)  performances for over a decade. BJ has won main event fights in multiple weight classes, he(4)  certainly belongs in the UFC hall of fame. Another strong(5) performance of the night, came from Donald Cerrone. Regardless of who(6)  his opponent is Cerrones’(7)  performance is always entertaining, he(8)  brings action to every fight. Mirko, in addition, (9)  makes the crowd roar. Despite losing and retiring, his legacy in the cage is profound. (11)  All in all, UFC 137 brought fans a multitude of(12)  feelings, like: (13)  joyful, excitement and winning. (14)

You have 1:00. Get the right answer in your head (to the orange phrase) and find the letter that matches. 

M1: (a)no change (b) night, BJ (c) night. BJ (d) night; BJ (e) night: BJ

M4: (f) no change (g) classes he (h) classes. He (i) classes: he (j) classes; he
T7: (a) no change (b) Cerrones (c) Cerrone’s (d) Cerrone (e) Donalds

T13: (f) no change (g) feelings, such as: (h) feelings; (i) feelings with (j) feelings:

W6: (a) no change (b) whom (c) whichever (d) it’s (e) its 

W8: (f) entertaining; he (g) no change (h) entertaining: he (i) entertaining and he (j) entertaining, yet he

W9: (a) In conclusion, Mirko (b) However, Mirko (c) Mirko, however (d) In addition, Mirko (e) no change

TH14: (f) no change (g) joy, exciting and winning (h) joy, excited and winning (i) joy, excitement and victory.

TH: Mr. Foster used strong diction; write the “poor diction” words for the green words.
Friday: Write a topic sentence that makes sense for this paragraph. 
This sentence needs to be:

1) Is grammatically perfect

2) Has a strong introductory transitional phrase

3) Is a compound sentence

4) Uses at least one vocab word correctly. 

Friday=


How was it said? = One adjective for tone


Where might you find this text? 
What kind of person wrote it?


What kind of people was it written for?

1:30 to answer both; get answer in your head first, then find the right letter. 

Week #4 = Tuesday and Wednesday timed
Dear favorite students,


(1) My holiday break was very rewarding. (2) It didn’t snow very much so I couldn’t use my snow blower sadly. (3) The first and most meaningful way that my break was fulfilling involved all of my sisters: Sara, Ally, Emily and Stef. (4) Another significant way the break was welcomed, involved my wife and Little A. (5) While there are four of them, I spent time with each. (6) Each passing day brings a new skill he can learn and a new challenge he encounters. (7) Obviously, the most beneficial aspects of my break involved my family. (8) By “challenges” I mean The Prince kicks and rolls, clearly he is training jiu-jitsu already. 


Sincerely, 


El Capitán

T1: a) no change b) much; so c) much, so sadly (remove second “sadly”) d) d) much, so e) much. Even though
T2: f) N. C. g) first, and most meaningful h) second i) first but most meaningful

T3: a) N.C. b) welcomed and involved c) welcomed involve d) welcomed involved

W1= reorder sentences, pay attention to transitions, delete one sentence. 

W2 = find all of the adjectives I used instead of “good” 

Two minutes for three questions:
TH1: a) N.C. b) sisters, such as: Sara c) sisters. Sara d) sisters; Sara e) sisters, like: Sara

TH2: a) N.C. b) “challenges”, I c) “challenges,” I d) “challenges;” I
TH3: f) N.C. g) rolls; clearly h) rolls and clearly i) rolls: clearly j) rolls. Clearly

Fri = answer all Close and Critical Reading questions:

5) What was said? 6 word sentence

6) How was it said? Format, tone and one other

7) Why? Theme = universal, sentence, author’s message

8) So What? Your life, text, the world

Week #5 =Tue, Wed are timed
1. The winter season, (M1)  brings a bunch of kinds of precipitation. 2. Probably the most common type is snow. 3. With snowfall (M2) there are several types of activities: (M3) shoveling, safe driving and snowball fights. 4. Another kind of snow, fluffy snow, makes its(T2) way to the Earth slowly. 5. One kind of snow is piercing snow, (T3) it punishes’ (W1) peoples’ faces as it falls. 6. However, snow is not the only form of winter stuff that there is. 7. As is clear by the many forms of winter wetness(W2) the cold months bring variety. 8. Sleet, a rain-snow mix, falls in winter (W3) but it usually only shows at the beginning and ends(Th1) of the season.

2:30 for four questions:
Monday: How was it said? Identify the function of each of the following sentences:

Single gender classrooms have recently gained notoriety in national news. Supporters of single gender math classrooms believe girls will participate more in single gender classrooms than in traditional classrooms. Opponents believe single gender math classes create an unrealistic environment. In your opinion, should math classes be single gender?

M1= (a) season. Brings (b) season; (c) season that (d) season (e) No Change

M2= (f) snowfall, their (g) snowfall, there (h) snowfall; there (i) snowfall and there (j) NC 

M3= (a) activities, such as: (b) activities, such as; (c) activities, like: (d) activities, (e) NC 

T1= (f) fluffy snow (g) rain (h) winter season (i) snow fluffy snow (j) NC 

T2= (a) it’s (b) its’ (c) their (d) his or her (e) NC 

T3= (f) snow. It (g) snow; It (h) snow: it (i) snow and it (j) NC 

W1= (a) punishes peoples’ (b) punishe’s peoples (c) punishes peoples (d) punishes people’s   

W2= (f) wetness; (g) wetness and (h) wetness, (i) wetness, and (j) NC   

W3= (a) winter, but (b) winter, or (c) winter; but (d) winter. But (e) NC    

Th1= (f) beginning and end (g) beginnings and ends (h) beginnings or ends 

(i) beginning or end (j) NC 

Thu= Delete the sentence that doesn’t fit; reorder sentences. Keep # 1 first.

Fri = Improve the diction of the orange words. 

Friday= The author wants to add the sentence, “Slow, fluffy snow accounts for 30% of the wintry precipitation during the winter months.” Should this sentence be added:

a) Yes, right before sentence #3

b) Yes, right after sentence #7

c) No, it distracts from the main focus of the paragraph

d) No, it provides false information that contradicts the paragraph’s focus.

Week #6 = Tues, Wed, Thur timed

Halloween, a(1) American tradition since 1623 is(2) celebrated differently in each state. _____, Wisconsins children eat multiple vegetables: broccoli, turnips and beets. _____, these kids give they’re(3) favorite one to someone who(4) they love. _____ Celebrants of this good feast in Arizona party all night and eat a community breakfast in the morning. _____, not all “Halloweeners” celebrate; Texas(5) children boycott the holiday, its(6) seen as blasphemous in that state. (a) American children (b) enjoy candy (c) regardless of where he lives(7) (d). From our nation’s enterprise(8), Halloween shows America’s diversity because adults of all ages celebrate differently. 

M1: (a) NO CHANGE (b) n, an American (c) n, a American (d) n an American (e) omit the passage
M2: (f) NO CHANGE (g) 1623, is (h) 1623, was (i) 1623, will be (j) 1723, is
M3: Fill in all the orange blanks with the appropriate transitions. 

T4: (f) NO CHANGE (g) whom (h) through which (i) in that they care, and 
T5: (a) NO CHANGE (b) celebrate, Texas (c) celebrate: Texas (d) celebrate. However, (e) omit the entire underlined phrase
T6: (f) NO CHANGE (g) holiday, it’s (h) holiday. It’s (i) holiday but it’s (j) holiday. Its
5:00 for 5 questions: Purple W7 and W8, Red TH1 and TH2, Orange M3
W3: (a) NO CHANGE (b) kids’ give their (c) kid’s give their (d) kids give there (e) kids give their
W7: (a) NO CHANGE (b) she lives (c) these aforementioned children, which are American, live (d) they live. (e) OMIT the underlined passage 
W8: (f) NO CHANGE (g) birth, (h) ignition, (i) start (j) omit the passage

TH1: The author wants to add detail of “on this holiday”. Given that this statement is true and grammatically correct, where would it work the LEAST? a, b, c, d

TH2: f) NO CHANGE g) Wisconsin’s children h) Wisconsins’ children j) Wisconsin children

F1: a) NO CHANGE b) vegetables; c) vegetables, d) vegetables, such as: e) vegetables.

F2: Author wants to revise the underlined passage. Which would be the MOST effective?

(a) NO CHANGE (b) It began in 1623. (c) children from multiple states celebrate in multiple ways. (d) America encourages diversity through celebrating Halloween. 

(e) Halloween costumes vary drastically in form and function. 

Friday=


How was it said? = One adjective for tone


Where might you find this text?


What kind of person wrote it?


What kind of people was it written for?

Week #7
In Mr. Foster’s (M1) class so far we (M2) have learned a lot of things: (M3) etymology, “Beowulf”, (T1) Canterbury Tales, Hamlet, and grammar and persuasive essays. Of all the concepts we have practiced (T2) ◊I think Hamlet is the most fun; (T3) I felt I got that unit the most. When he•played•the role•of Hamlet, •Mr. Foster that is, it was easy for his audience to comprehend the plot. ∂Acting in the auditorium too. (W1) Beowulf was crucial to learn about old English; Middle English was addressed to Canterbury Tales. ( However, the guide questions helped us learn as well. It is our hope that whomever (W2) our teacher is next trimester, he/she will be as effective as well. 

M1 = a) NO CHANGE b) Fosters’ c) Fosters d) Foo-schnicken’s e) Becker’s

M2 = f) NO CHANGE g) far; we h) far, we i) far through which we have been engaged, j) far and we

M3 = a) NO CHANGE b) things;  d) things, for instance: e) things, like:

T1 = f) NO CHANGE g) Beowulf h) “Beowulf” i) Beowulf; j) Beowulf

T2 = a) NO CHANGE b) practiced, c) practiced; d) dun up ‘n practiced e) practiced, and

T3 = f) NO CHANGE g) fun, but h) fun, even though i) fun: j) fun, like Mr. Carlson
W1 = a) NO CHANGE b) two. c) too: d) to

W2 = f) NO CHANGE g) whoever h) whichever i) he is

Thurs = 

◊ = Fix Parallelism in that sentence.

• = Where will it fit worst?

∂ = Why wrong? Fix it.

( = Write better transition 
Fri = Keep it?

a) Yes, it’s a key detail of topic sentence.

b) Yes, it is an accurate rebuttal to the previous sentence. 

c) Yes, but it should be the 2nd sentence of the paragraph.

d) No, it is insignificant and doesn’t prove topic sentence.

Friday=


How was it said? = One adjective for tone


Where might you find this text?


What kind of person wrote it?


What kind of people was it written for?
Week #8

A quinceanera requires as much of a year in planning, a court of honor, and a fifteen year old girl. This Latino tradition celebrates a girl’s fifteenth birthday and her passage into womanhood. (a) M y friend Claudia will turn fifteen on Wednesday (b), and on Saturday a quinceanera (or as it’s often called quince) will be held in her honor (c). 


[1] It’s going to be a huge celebration. [2] Claudia will be wearing an elaborate, elegant gown and all the members of her court (including me) will be dressed up to. [3] Claudia was given the choice of a quince or a regular birthday party. [4] The cake that’s been planned for the party will be two feet tall. [5] Claudia and her parents have invited more than eighty friends and relatives. [6] They’ve decorated with fresh flowers and satin bows to make sure there’s enough room for everyone. T2
T1: Given that all of the choices are true, which one (if replaced with the underlined phrase) provides information that most effectively supports the statement being made in the rest of the sentence?

f) NO CHANGE g) in pink and teal, matching Claudia’s dress, h) their backyard, garage and basement den j) a week in advance of the party

T2: Which of the following sentence in the second paragraph is LEAST relevant to its main focus and, therefore, could be deleted? 2 or 3 or 4 or 5
M1: a) NO CHANGE b) of a year for c) as a year of d) as a year at

M2: f) NO CHANGE g) girls, h) girls’ j) girls

M3 a) NO CHANGE b) up too c) in, too d) in to. 
M4: The author wants to add detail of “on this special day”. Given that this statement is true and grammatically correct, where would it work the LEAST? a, b, c

[1] The party will start at seven in the evening and end at midnight, but Claudia and her court of honor will not appear until the festivities are underway. [2] The final pair in the procession will be Claudia and her partner. [3] She will then dance a waltz with her father, her padrino (godfather), and members of her court. [4] After the dance, when she will give a short speech thanking everyone for coming. [5] We will make a grand entrance, each couple representing a year in Claudia’s life. [6] Since the speech, the cake will be cut. 

W1: f) NO CHANGE g) in which h) where j) OMIT the underlined portion

W2: a) NO CHANGE b) Following after c) Besides d) After
TH1: a) NO CHANGE b) Claudia’s c) Claudia, and her d) Claudia’s and her

TH2: For the sake of logic and coherence of this paragraph, Sentence 5 should be placed:

e) where it is now g) after Sentence 1 h) after Sentence 2 j) after Sentence 3
The party will start at seven in the evening and end at midnight, but Claudia and her court of honor will not appear until the festivities are underway. We will make a grand entrance, each couple representing a year in Claudia’s life. The final pair in the procession will be Claudia and her partner. She will then dance a waltz with her father, her padrino (godfather), and members of her court. After the dance, she will give a short speech thanking everyone for coming. After the speech, the cake will be cut. 

Because of her fifteenth birthday, Claudia will be involved in other activities that day. [F2] There will be a final rehearsal for her this morning. At three in the afternoon Claudia and her family will attend a church service conducted specially for her quince. Often a reception will be held in the church hall. 

F1: Given that all of the choices are true, which one provides the most effective transition from the preceding paragraph to this one? a) NO CHANGE b) While the party is the main event for her friends, c) Making sure she goes to bed early the night before, d) This happens only once in a young woman’s life, and 

F2: At this point, the writer is considering adding the following true statement: Each year, many young women celebrate their quinces in a group event at the California State Fair. Should the writer make this addition here? f) Yes, because it adds a relevant example of the popularity off quinces in the United States. G) Yes, because it shows how important the quince is to a young woman. H) No, because it would distract the reader from the paragraph’s focus on Claudia’s activities. J) No, because it doesn’t state how many young women celebrate their quinces at the fair. 

Week #9 = Tuesday, Wed and Thur are timed

Recently I watched an old black-and-white movie on television. In the opening scene, the camera moved slowly down the fog-cloaked street of a city at night. The first thing the camera focused on, was a neon sign. (a) The eye-catching sign (b) was glowing steadily (c), even (d) through the fog. I forgot about the movie for a minute and wondered what made that sign so bright. 

The secret of neon signs is their light source. T2 The gas is sealed in a glass tube, that is, shaped into the image of letter needed for the sign. (a) When an electric current runs through the tube, in which the gas is ionized (b), and the sign (c) glows (d). 

M1: The author wants to add detail of “on the screen”. Given that this statement is true and grammatically correct, where would it work the LEAST? a, b, c, d

M2: The author wants to add detail of “brightly”. Given that this statement is true and grammatically correct, where would it work the LEAST? a, b, c, d
T1: a) NO CHANGE b) on was: c) on was, d) on was

T2: Which of the following statements, if added here, would most effectively identify the quality of neon light that sets it apart from other kinds of light?

f) A neon sign uses a lot of energy to get started, but once it begins to glow, it will keep glowing for many years.

g) Neon signs have been used for years to attract attention to the businesses and products they represent.

h) A neon sign is not illuminated by heated filaments but by electrically charged gas.

j) Neon signs brighten night skies in much of the world. 

The secret of neon signs is their light source. A neon sign is not illuminated by heated filaments but by electrically charged gas. The gas is sealed in a glass tube that is shaped into the image of letter needed for the sign. When an electric current runs through the tube, in which the gas is ionized or energized, the sign glows. TH2
W1: a) NO CHANGE b) filaments, but by c) filaments; but by d) filaments and by

W2: f) NO CHANGE g) They seal the gas h) The gas sealed j) Gas sealed

TH2: At this point, the writer is considering adding the following true statement: Neon signs are used more and more in street level advertising. Should the writer make this addition here?

a) Yes, because it offers a modern use for neon signs.

b) Yes, because it makes a connection between the sign in the movie and signs in daily life.

c) No, because it strays from the paragraph’s focus on how neon signs work.

d) No, because the paragraph already provided examples of the uses of neon signs

TH1: f) NO CHANGE g) tube h) tube, j) tube in which

Neon is not the only gas used for such signs, argon, krypton, helium and xenon are also used. Neon sign designers use different gases to produce different colors. Neon creates an orange-red color, while argon produces a pale purple color. Ionized krypton is colorless, but in a combination of gases these will produce a white light. Designers can also tint the glass tubes; to create even more color variations.   

F1: f) NO CHANGE g) signs: argon h) signs; argon j) signs, but

F2: a) color while, argon b) color; argon, c) color argon d) NO CHANGE

F4: a) NO CHANGE b) tubes. Creating c) tubes. To create d) tubes to create

Friday= Write the final sentence of this paragraph. 

Because gas fills the entire length of a glass tube, the light emanating [M2] from neon signs is constant. In a sign lit by incandescent light bulbs, [T1] the light is not as steady, because the brightness begins and ends with each bulb. Neon, and combinations of gases including neon, create light that is consistent, enduring and bright. That’s why the steady glow of the neon sign could cut through the deep fog on my television screen of the city night and capture my interest, even in black and white.

W1: f) NO CHANGE g) steady because h) steady; because j) steady and because
W2: Which of the following BEST describes the genre/mode/type of the passage about neon gas? a) a narrative describing the writer’s experience with a neon sign b) a persuasive piece arguing for the benefits of neon gas c) an informative text that highlights specific details about how neon signs function d) an advertisement for using neon signs in business

M1: a) NO CHANGE b) tube from end to end, c) tube to each end, d) tube from one end to the other, 

M2: By “emanating” the author most likely means: a) containing b) exiting c) entering d) thoroughly 
T1: Here, the author plans to add the phrase “each arranged individually and alone” Given that the statement is true and grammatically correct, should the author add it here?
f) Yes, it adds a key detail g) Yes, it adds to the sarcastic tone of the passage h) No, it distracts from the primary focus of the paragraph i) No, it is contradictory to the information in the previous sentence.   
T2: Why is there a comma between consistent and enduring? a) separates two complete sentences b) shows a list c) after a transitional phrase d) the comma should be omitted 

Week #10 = Thursday and Friday timed

NEW TEXT; NOT THE NEON ARTICLE ANYMORE

“Let’s get a dog,” I said to my dad.

“Absolutely not!” he answered immediately. “Dogs are too much trouble.”


With the newspaper’s pet ads clutched in my hand and my idealism as obvious as the headline, I assured him that dogs are no trouble. However, everybody knows that you can trust dogs to be many characteristics: loyal, protective, and intelligent. I decided not to press my point and put on  my shoes for a walk. 

TH1: a) NO CHANGE b) newspapers’ pet c) newspaper pet’s d) newspaper pets’

TH2: f) NO CHANGE g) headline; h) headline: j) headline
F1: a) NO CHANGE b) Furthermore, c) Thus, d) Nevertheless, 

F2: f) NO CHANGE g) characteristics, such as: h) characteristics, like j) characteristics; 

Week #11
 “I’m so sorry,” he gasped. “I don’t know how he got free again.” He whistled to the dog. Collar in hand, the dog cocked his head, while the man crept closer, whispering endearments. The man edged an arm’s length from his faithless companion. “Here, boy!” he called, before, making a frustrated lunge. The dog scuttled sideways, and the owner hit the road with his stomach, belly first. “This is the third time this week,” he groaned. 


When I got home, my dad was scanning the pet ads. “Maybe you’re right,” he said, meaning that he thought a dog might not be to much trouble. Though I knew better, I smiled and kept my mouth shut. 

TH1: F) NO CHANGE G) The dog cocked his head, collar in hand, while the man crept closer whispering endearments. H) The dog cocked his head, while the man crept closer, whispering endearments, collar in hand. J) Whispering endearments, the dog cocked his head while the man crept closer, collar in hand. 

TH2: a) NO CHANGE b) called, before c) called before, d) called before

TH3: f) NO CHANGE g) slamming into it h) surface physically, j) OMIT the underlined passage
F1: a) NO CHANGE b) too much c) OMIT the underlined passage d) as much 

F2: f) NO CHANGE g) With this in mind, h) However j) Thankfully, 
“Let’s get a dog,” I said to my dad.

“Absolutely not!” he answered immediately. “Dogs are too much trouble.”


With the newspaper’s pet ads clutched in my hand and my idealism as obvious as the headline, I assured him that dogs are no trouble. However, everybody knows that you can trust dogs to be many characteristics: loyal, protective, and intelligent. I decided not to press my point and put on my shoes for a walk.
I was walking briskly, thinking of ways to prove the excellence of dogs and I am noticing that I was being watched. A German shepherd was sitting under a “Beware-of-Dog” sign, an empty collar at his feet. But what caught my eye was his frantically wagging tail. I had barely enough time to exclaim, “Good dog!” before he paws first leapt up, landing on my chest, knocking me over. Struggling to stand up, I assessed the dog bathing my face with it’s large tongue. He wasn’t a threat. 

M1: a) NO CHANGE b) dogs. When c) dogs, but d) dogs, when

M2: f) NO CHANGE g) had noticed h) noticed j) was noticing

M3: a) NO CHANGE b) frantically, wagging c) frantic, wagging, d) frantic wagging, 

T1: The best placement for the underlined portion would be: f) where it is now g) after the word landing h) after the word me j) after the word over (ending the sentence with a period) 

T2: a) NO CHANGE b) face, with his c) face with his d) face, with its 

 He followed me as I continued on my way. Every few feet, he’d tear off to terrorize a sleeping cat or bother a family playing in their yard, until they drove him off. He would like to of abandoned me for a cyclist, but he got bored trying to keep up. The dog was at my heels when his owner, wearing a bathrobe, ran up behind us. 

W1: f) NO CHANGE b) near took and c) might of d) would have

W2: a) NO CHANGE b) owner wearing a bathrobe, c) owner, wearing a bathrobe d) owner wearing a bathrobe

Week #12
I grew up on the East Coast, just a Friday nights drive from the Atlantic shore. Ocean City, Bethany Beach, Assateague Island-the very names conjure sunlit scenes, the crash of breakers, the cry of gulls. Childhood vacations meant all that, plus overheated cars in standstill traffic waiting to cross the Chesapeake Bay Bridge to and from what Marylanders call the Eastern Shore. 


Yet I never thought of myself as a beach person: I don’t swim, I sunburned more easily, and I hated noisy crowds. But perhaps I was a beach person after all, as I discovered at those times of day when the sun wasn’t harsh, and in those places where people were scarce and the only sounds were the primal rhythms of sea and wind.

M1: a) NO CHANGE b) Friday’s nights’ c) Friday nights’ d) Friday night’s e) Friday’s night’s
M2: f) NO CHANGE g) person; h) people: j) person,

M3: a) NO CHANGE b) easier, c) easily, d) easiest, 

Then I moved to the fertile, landlocked Midwest. Soon, I began to long over real waves, not just the waving tassels atop endless fields of corn. Lacking plane fare to either coast, I drove five hours to one of the Great Lakes-Lake Michigan. There, I’d heard, one could find beautiful beaches and a grand expanse of water extending to the horizon. 

But when I walked the beach in the early hours of morning daybreak, I could sense that I was not really at the ocean. Its mainly the smell [W3] that was missing. My eyes scanned the water and searched in vain for a flash of a dolphin.

W1: f) NO CHANGE G) at the hours when the sun is rising, H) at daybreak, J) in the morning’s break of day,

W2: a) NO CHANGE b) It was mainly c) Its primarily d) It’s primarily

W3: At this point the writer is considering adding the following: that wonderfully heavy, 

-fishy briny smell- Should the writer make this addition here? f) Yes, because it suggests that the narrator’s childhood vacations on the Eastern Shore left lasting impressions g) Yes, because it adds a touch of humor, which lessens the intensity of the narrator’s longing to relive the past h) no, because it creates a digression that leads the essay away from its primary focus j) No, because it introduces a shift in thought, which makes it difficult to identify with the narrator’s actual experience as a beach person. 
[1] But when I walked the beach in the early hours of morning daybreak, I could sense that I was not really at the ocean. [2] Its mainly the smell that was missing. [3] My eyes scanned the water, and searching in vain for a flash of a dolphin. [4] I looked around on the beach: no sideways-scurrying crabs, no sand sharks with mouths that open like steel traps, no clumps of seaweed or piles of jellyfish heaved on the beach, no spiraled conch shells. [5] The lake is indeed magnificent, with lovely views and even, on windy days, waves. [6] But my senses cannot be fooled. [7] I still miss the ocean. F1
TH1: a) NO CHANGE b) when c) since d) OMIT the underlined portion

TH2: Which of the following alternatives to the underlined portion would be the LEAST acceptable? F) defrauded. G) tricked. H) deceived. J) masked.

F1: For the sake of logic and coherence of this paragraph, Sentence 7 should be placed: a) where it is now b) after sentence 1 c) after sentence 3 d) after sentence 5

F2: This questions is about the entire “Beach” passage: Suppose the writer had been assigned by the editor of a travel journal to write an essay describing popular vacation spots on the East Coast. Would this essay successfully fulfill the assignment?

e) Yes, because the essay describes various beach sites along the Eastern shore.

f) Yes, because the essay focuses on the narrator’s childhood vacations in Maryland

g) No, because the essay instead focuses on the differences between salt & fresh water.

h) No, because the essay is a narrative about a vacation and would not be appropriate for a travel journal.  

Week #13
As the trimester nears its end, students work even more harder to be sure their grades actually reflect their intelligence. While some students work harder then others. All AHS students want to graduate, on time. Regardless of whom their teachers are, students’ efforts directly effects their grades. Final exam grades are a crucial element two success to. Not all students need to increase the effort at the end of the trimester, because they applied themselves casually. If students do fail, he can always take the class again immediately; this is the advantage of trimesters. 

W1 = a) more diligent b) diligenter c) with more diligention d) more diligently 

W2 = f) However, final g) As a result, final h) In addition, final i) NO CHANGE

W3 = a) consistently b) smittenly c) gradually d) eventually e) NO CHANGE

TH1 = a) NO CHANGE b) whom there c) who their d) whom they’re e) who there

TH2 = f) NO CHANGE g) effects there h) affects their i) affects they’re j) affects there

TH1 = a) NO CHANGE b) trimester. Because c) trimester; because d) trimester even though e) trimester because 

F3 = a) NO CHANGE b) to success two. c) too success too d) too success to e) to success too. 

F4 = f) student’s efforts g) NO CHANGE h) students efforts’ h) students’ efforts’

M1 = a) NO CHANGE b) it’s end, c) it’s end d) its end e) its end; 

M2 = f) NO CHANGE g) than others. h) then others, i) than others, j) than others; 

M3 = a) NO CHANGE b) graduate on time. c) graduate even on time. d) graduate: on time.
T2 = Keep it?

b) Yes, it is a key detail of topic sentence.

c) Yes, it is an accurate rebuttal to the previous sentences.

d) Yes, but it should be the 1st sentence of the paragraph.

e) No, it is insignificant and doesn’t prove topic sentence. 

T3 = Best last sentence:

a) One disadvantage of trimesters is rushing through content.

b) Specifically, Mr. Foster’s class requires serious effort to pass.

c) The end of the trimester is a crucial, serious time for all students.

d) Armada High School, in particular, offers a variety of classes each trimester.
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